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Name: __________________________________



1
Given [image: image1.png]


 and [image: image2.png]Fl = Ax-3k



, the value of b is

	1)
	1
	3)
	3

	2)
	[image: image3.png]



	4)
	[image: image4.png]






2
What is the inverse of [image: image5.png]


?

	1)
	[image: image6.png]F = 3x 42




	3)
	[image: image7.png]Fl = Axe2





	2)
	[image: image8.png]



	4)
	[image: image9.png]7 = +4x
)=
S
2







3
If [image: image10.png]f(x)=x° - 6



, find [image: image11.png]£
(x)



.

4
For the function [image: image12.png]Ax)=(x-3)7+1




, find [image: image13.png]7
%)



.


1
ANS:
2

[image: image14.png]2x+3 =y




REF:
012419aii

2
ANS:
3

[image: image15.png]2x+2 =y




REF:
061815aii

3
ANS:


[image: image16.png]


.  [image: image17.png]£
(x)



 is not a function.
REF:
061132a2

4
ANS:


[image: image18.png]w=(y-3)7+1
-1=(y-3)
Nx-1=y-3
NMx-1+3=y
Pl =x-1+3




REF:
fall1509aii

